Addal47
4

HE'ITI'EW
e e
VR AT (V) 23 (ST Bl et
[Participant ID '
Participant Name -
Test Center Name iON Digital Zone IDZ Powai
Test Date 12/08/2022
Test Time 9:00 AM - 10:30 AM
Subject [Cluster 1
Section : English
Q.1 Select the most appropriate option to fill in the blank.
Even his relatives did not stand by him in his misfortunes.
Ans X 1.Next
#< 2. closer
«” 3. nearest
25 4. nearer

Question Type : MCQ

Question ID : 387868613
Option 1 ID : 3878682401
Option 2 ID : 3878682402
Option 3 ID : 3878682404
Option 4 ID : 3878682403
Status : Answered

Chosen Option : 4

Q.2 Select the most appropriate synonym of the given word.

Exorbitant
Ans X 1.Relevant

o 2. Excessive
25 3. Brilliant
25 4. Petulant

Question Type : MCQ
Question ID : 387868617

Option 1 ID : 3878682417
Option 2 ID : 3878682420
Option 31D : 3878682418
Option 4 ID : 3878682419
Status : Answered

Chosen Option : 1





Admin
Stamp


Q.3 Select the most appropriate meaning of the given idiom.

Keep your head

Ans X 1.Have self-respect
< 2. Lose temper
< 3. Be arrogant

" 4. Remain calm

Question Type : MCQ
Question ID : 387868618
Option 1 ID : 3878682421
Option 2 ID : 3878682423
Option 3 1D : 3878682424
Option 4 ID : 3878682422
Status : Answered
Chosen Option : 2
Q.4 Select the most appropriate ANTONYM of the given word.
Spontaneous
Ans X 1.Voluntary
25 2. Natural
2 3. Casual
" 4. Deliberate
Question Type : MCQ
Question ID : 387868616
Option 11D : 3878682415
Option 2 ID : 3878682413
Option 31D : 3878682416
Option 4 ID : 3878682414
Status : Answered
Chosen Option : 4
Q.5 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
correct order to form a meaningful and coherent paragraph.
A. And when he emerged, he found he had created a personality everybody loved.
B. A little guy in a bowler hat, a close-fitting jacket, a cane, outsize shoes and a brush-like
moustache!
C. The ‘Little Tramp’, the unforgettable character Charlie Chaplin invented, was born purely
by accident in 1915.
D. While rushing to a film shoot in California, he grabbed clothes other people had left
behind in the changing room.
Ans  # 1.CDAB
< 2.BDCA
< 3.CBAD
X 4.BADC
Question Type : MCQ
Question ID : 387868619
Option 11D : 3878682425
Option 2 ID : 3878682427
Option 3 1D : 3878682426
Option 4 ID : 3878682428
Status : Answered
Chosen Option : 2




Q.6 Select the most appropriate option to fill in the blank.

She is smarter than all her friends.
Ans X 1.very

& 2. quite
< 3. more
" 4. much

Question Type : MCQ
Question ID : 387868614
Option 1 1D : 3878682407
Option 2 ID : 3878682405
Option 31D : 3878682408
Option 4 1D : 3878682406

Status : Answered

Chosen Option : 4

Q.7 Select the most appropriate option to fill in the blank.

| cannot recollect where my keys.
Ans o 1.1 left

2 2. had | left
#< 3. 1would have left
25 4.did | leave

Question Type : MCQ
Question ID : 387868615
Option 11D : 3878682411
Option 2 ID : 3878682412
Option 3 1D : 3878682409
Option 4 1D : 3878682410

Status : Answered

Chosen Option : 2




Q.8
Ans

Comprehension:
Read the given passage and answer the questions that follow.

A sparrow is a small bird which is found throughout the world. There are many different
species of sparrows. Sparrows are only about four to six inches in length. Many people
appreciate their beautiful song. Sparrows prefer to build their nests in low places — usually on
the ground, clumps of grass, low trees and low bushes. In cities they build their nests in
building nooks or holes. They rarely build their nests in high places. They build their nests out
of twigs, grasses and plant fibres. Their nests are usually small and well-built structures.

The sparrows are some of the few birds that engage in dust bathing. Sparrows first scratch a
hole in the ground with their feet, then lie in it and fling dirt or sand over their bodies with
flicks of their wings. They also bathe in water, or in dry or melting snow. Water bathing is
similar to dust bathing, with the sparrow standing in shallow water and flicking water over its
back with its wings, also ducking its head under the water. Both activities are social, with up
to a hundred birds participating at once.

SubQuestion No : 8
Where is a sparrow’s nest most likely to be found in cities?
%" 1. Building nooks

25 2. High trees
2 3. Water bodies
< 4. Underground holes

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
387868621
3878682430
3878682431
3878682432
3878682429
Answered

1




Q.9
Ans

Comprehension:
Read the given passage and answer the questions that follow.

A sparrow is a small bird which is found throughout the world. There are many different
species of sparrows. Sparrows are only about four to six inches in length. Many people
appreciate their beautiful song. Sparrows prefer to build their nests in low places — usually on
the ground, clumps of grass, low trees and low bushes. In cities they build their nests in
building nooks or holes. They rarely build their nests in high places. They build their nests out
of twigs, grasses and plant fibres. Their nests are usually small and well-built structures.

The sparrows are some of the few birds that engage in dust bathing. Sparrows first scratch a
hole in the ground with their feet, then lie in it and fling dirt or sand over their bodies with
flicks of their wings. They also bathe in water, or in dry or melting snow. Water bathing is
similar to dust bathing, with the sparrow standing in shallow water and flicking water over its
back with its wings, also ducking its head under the water. Both activities are social, with up
to a hundred birds participating at once.

SubQuestion No : 9
Which of the following statements is NOT true?
«” 1. Sparrows fling dust on their bodies with their beaks during a dust bath.

< 2. Sparrows build nests out of twigs, grasses and plant fibres.
< 3. Sparrows are found throughout the world.

< 4. Sparrows are social birds engaging in group activities.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
387868622
3878682434
3878682436
3878682433
3878682435
Answered

1




Comprehension:

Read the given passage and answer the questions that follow.

A sparrow is a small bird which is found throughout the world. There are many different
species of sparrows. Sparrows are only about four to six inches in length. Many people

appreciate their beautiful song. Sparrows prefer to build their nests in low places — usually on

the ground, clumps of grass, low trees and low bushes. In cities they build their nests in

building nooks or holes. They rarely build their nests in high places. They build their nests out
of twigs, grasses and plant fibres. Their nests are usually small and well-built structures.

The sparrows are some of the few birds that engage in dust bathing. Sparrows first scratch a
hole in the ground with their feet, then lie in it and fling dirt or sand over their bodies with
flicks of their wings. They also bathe in water, or in dry or melting snow. Water bathing is
similar to dust bathing, with the sparrow standing in shallow water and flicking water over its
back with its wings, also ducking its head under the water. Both activities are social, with up

to a hundred birds participating at once.

SubQuestion No : 10
Q.10 The given passage is:
Ans X 1.narrative

" 2. informative
< 3. biographical
& 4. literary

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
387868623
3878682440
3878682439
3878682437
3878682438
Answered

3

Section : Marathi

Q.11 'Sft @ls aret, ft S=Hertest ar wgufi=r aref Fivm.

Ans X 1. di8M TSISUIRT §IAT hTgid ehd gl
#< 2. ST "TERd! 39 Hehe TUATgS Ad.
< 3. IRBIT AT MEN ST A0 .
o 4. IJUSTAT STHUIR GIUT hefia STTd ATeld.

Question Type:
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
387868629
3878682462
3878682461
3878682464
3878682463
Answered

4




Q.12 31<eh ATRIRTHT QAT

Ans ¢ 1. T FHERId URde! degl ShIFITRIAT gUREIT SIqui el el gl

< 2. AR HA URAT Saunh e gidt Sdel! TTe uRae degT
2< 3. TURTT hFFTRIAT AT T Sheldid URdel Siauret et odet! gie.

< 4. I HIEIRIT TS URdel darid GEl URTAT SIgUTTE! goef! gieh.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
387868630
3878682466
3878682467
3878682465
3878682468
Answered

1

Q.13 "M AT U fO=RET". 9T arerTdie hies SHtcdr.
Ans X 1. 31qof aHHRIS

K 2. qof spdeptes
¥ 3. T Ydhis
X 4. e
Question Type : MCQ
Question ID : 387868626
Option 1 ID : 3878682450
Option 2 ID : 3878682449
Option 31D : 3878682451
Option 4 ID : 3878682452
Status : Answered
Chosen Option : 3
Q.14 gdierdeht wivrdt faegreff ereei=ht st Amrgh?
Ans X 1.3ftgxHg
< 2. st x gigste
& 3. T x Joret
< 4. 3R x THR
Question Type : MCQ
Question ID : 387868628
Option 11D : 3878682458
Option 2 ID : 3878682460
Option 3 1D : 3878682459
Option 4 ID : 3878682457
Status : Answered
Chosen Option : 3




Q.15 T TE SHTATET AAgHh HaTH = Shedl. AT faiwo sitea.
Ans 1. JHEYH, TS

< 2. ot el
< 3. Amgyah, garg
X A TS

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
387868624
3878682441
3878682444
3878682442
3878682443
Answered

1

Q.16 ‘@At SRITHR st @ia g, ar arerrdie resaft areay v 3 ?
Ans X 1.@«

o 2. 9\R
5 3. =
K 4w
Question Type : MCQ
Question ID : 387868625
Option 1 ID : 3878682446
Option 2 ID : 3878682448
Option 3 ID : 3878682447
Option 4 ID : 3878682445
Status : Answered
Chosen Option: 2
Q.17 géieTdeht ShivTaT 2reg "TiTR" AT FHETAT A8
Ans X 1.3d9
o 2.5
X 3.7l
X 4. AR
Question Type : MCQ
Question ID : 387868627
Option 11D : 3878682453
Option 2 ID : 3878682454
Option 3 ID : 3878682455
Option 4 ID : 3878682456
Status : Answered

Chosen Option: 2




Comprehension:

Tt IarT aran snftr géier wari<h IR am.

It dedte i aufgefar @i, SRiduTdeaT Tt @eTde. HiehuT FgUTS GIH TRLT. SgTdiel aiTet ATt
AreTer Y T TS STTE. T Hefi1 Acadieat et ATeRi= Med Pigeh 9. Heft eRrdte

T ST GIAUR AT o I fAaad Sred. A1SaT e MaTd TR hictel Aegd. ST Fell
Sregyrean f&aroft fRAeruTer Ursquart et Gu s gid!. Yeh ar TR Saret Si1for Jefi-r amee
UTSa0t gl AT chdTa! egt. a<) HY ITRYe fRueromardt ot degt at =<rar faw give.

B UAHT N, MRS S0} Agfoiend i, &1 sitetisdr T i) arera=h, srusai=h «rst arera=h.
FHefTEl Y et TgH U SToaT=T [IaRTd 319, U ilch Hell g FgUTdier? I1 ehrd e #F a9
T AR, ATAST Yeh THSTe! ehl Slich ohrdl TgUT T I e e .

T A= {5t fAwTeht, Tor gaT S S aredter fRAST Sirar geyst arg AnTe. st fRifée g
319 7T SV Fegd, UOT AT Areh<rdt [yl areett anfor =t off vs. e axae. atuda grgan T &t
TS ahicrel fHHTet Bid. T oh fEifid 1 USett. SiraT Aieh<tan itel! 3gUrst qurqor SMfoy fARTam..... degr
forclY g} ZmTet E1a & arTaaet i aTTTE! TG Hed. S[RIT M Feh=aT e, Moy 7 mest e
TEIATUYH X, SITRTA BIciT. HUIHR & HISAT MaTsiacsd Ydh W, Td MaTd Jall AT [HesTerl. 79T &
<A Tfe Wes 3Tg.

SubQuestion No : 18

Q.18 R AfFhT BiASHATS IR et FRoT....

Ans

< 1. o3 afea il A ava gl

X 2. fae ge TR o v sictst g yaRr e giar.
o 3. f= TITaTd 9T hietet Aegd.

< 4. Af&eher Rifgie g g,

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
387868633
3878682473
3878682476
3878682475
3878682474
Answered

3




Comprehension:

Tt IarT aran snftr géier wari<h IR am.

It date i aufgefar @i, SRiduTdeaT Tt @eTde. HiehuT FgUTS GIH TReT. SgTdiel aiTet ATt
AreTer Y T TS STTE. T Hefi+1 Aicsacieat e HTeRl= Med Pigeh 9. Heft eRrdte
e ST GIAUR G o I fAaad Sred. A1SaT e TMaTd TR hictel Aegd. SO Fell
Sregyrean f&aroft fReruTer Ursquart readT ©U s gid!. Yeh ar TR sareht Si1for Jefi-r amex
TSa0t gl AT chdTal egt. a<) HY IR fRueromardt At degt at =<rar faw give.

B UAHT N, MTRe S0} ATgfoiend i, &1 sitetigdr T i) arera=h, srusai=h «rst arera=h.
FHefTEl Y et TgH U SIToaT=T [oaRTd $1€. U ilch Hell g FgUTdier? I1 ehrd faaRm #F a9
T AR, ATAST Yeh THSTe! ehl SAich h1dl TEUT T I e e .

e A= {5t fAwTelt, Tor gaT ST S aredter fRAST sirar geyst arg AnTe. st fRifée g
319 7T SV Fegd, UOT AT Areh<rdt [yl areett anfor =t off vs. e axae. atuda grgan T &t
TS ahicrel fHHTet Bid. T oh fEifid 1 USett. SiraT Aieh<tan itel! 3gUrst qurqor SMfoy fARTam..... degr
forclY g} ZmTet E1a & arTaaet i aTTTE! TG Hed. S[RIT M Feh=aT e, Moy 7 mest e
TEIATUYH X, SITRTA BIciT. HUIHR & HISAT MaTsiacsd Ydh W, Td MaTd Jall AT [HesTerl. 79T &
<A Tfe Wes 3Tg.

SubQuestion No : 19

Q.19 'gIAYR TG0 AT JreRrERE 3 Sra?

Ans

o 1. 9ed aot
25 2. TTaarET RT SOt

X 3. SR
75 4. 3T ME fAesqot

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
387868634
3878682478
3878682479
3878682477
3878682480
Answered

1




Comprehension:

Tt IarT aran snftr géier wari<h IR am.

Jt U9 i aufgdian e, ShichuIdedT GenT ST, 0T FEUTSl GiTH USRI, SETATeT IiTel HTeRT
AreTer Y T TS STTE. T Hefi+1 Aicsacieat e HTeRl= Med Pigeh 9. Heft eRrdte
AT T GTAHR AT o I Hsad Sred. [T TS AT T ehicrol Fegd. S1foT Fer
Sregyrean f&aroft fRAeruTer Ursquart et Gu s gid!. Yeh ar TR Saret Si1for Jefi-r amee
UTSa0t gl AT chdTa! egt. a<) HY ITRYe fRueromardt ot degt at =<rar faw give.

B UAHT N, MRS S0} Agfoiend i, &1 sitetisdr T i) arera=h, srusai=h «rst arera=h.
FHefTEl Y et TgH U SToaT=T [IaRTd 319, U ilch Hell g FgUTdier? I1 ehrd e #F a9
T AR, ATAST Yeh THSTe! ehl Slich ohrdl TgUT T I e e .

T A= {5t fAwTeht, Tor gaT S S aredter fRAST Sirar geyst arg AnTe. st fRifée g
319 7T SV Fegd, UOT AT Areh<rdt [yl areett anfor =t off vs. e axae. atuda grgan T &t
TS ahicrel fHHTet Bid. T oh fEifid 1 USett. SiraT Aieh<tan itel! 3gUrst qurqor SMfoy fARTam..... degr
forclY g} ZmTet E1a & arTaaet i aTTTE! TG Hed. S[RIT M Feh=aT e, Moy 7 mest e
TG &, SR et HUIKEHR & AT MATodes Yeh @eTd, Td TaTd Hell Al Haletl. 37T &
HgaTe T W 3B,

SubQuestion No : 20
Q.20 'STTUTTH REYUT A2AT ATAT IATATAI 2Aee Ae.

Ans X 1.Ta
25 2. eyt
X 3. gfed @
o 4.3
Question Type : MCQ
Question ID : 387868632
Option 1 ID : 3878682472
Option 2 ID : 3878682469
Option 3 ID : 3878682470
Option 4 ID : 3878682471
Status : Answered
Chosen Option : 4
Section : General Knowledge
Q.21 WRedT ARIYTTET HIUTET TS AERIETAT ISUUTAT IR IS O Tg?
Ans X 1.3< 135
o 2. e 156
< 3. 31 =¢ 150
X 4. agese 148
Question Type : MCQ
Question ID : 387868640
Option 11D : 3878682501
Option 2 1D : 3878682504
Option 31D : 3878682503
Option 4 1D : 3878682502
Status : Answered
Chosen Option : 2




Q.22 ¥ A At S 2022 7oA At Reefidia s midh Rfsammed foraen gfges sifaf@ams=n

eI e Re Igred dhel?
Ans X 1.46th
o 2. 44th
25 3.49th
X 4. 42nd
Question Type : MCQ
Question ID : 387868635
Option 1 ID : 3878682483
Option 2 ID : 3878682481
Option 3 ID : 3878682484
Option 4 ID : 3878682482
Status : Answered
Chosen Option : 1
Q.23 w+t AieeTaREn greanft e dey org:
Ans X 1. IR
o 2. 3@ g yETo
X 3. RedmeR
X Am=
Question Type : MCQ
Question ID : 387868638
Option 1 ID : 3878682494
Option 2 ID : 3878682493
Option 3 ID : 3878682496
Option 4 ID : 3878682495
Status : Answered
Chosen Option : 3
Q.24 gdierdhl shlvrT gafara o LT Tk Seidichalel SUSENaT HHTALN 3HT8?
Ans o 1. TR <Y, GTSTT G, ShraeT aT
2 2. oftar &), gemem 7, g 76
< 3. i A, g A, of | A
< 4. JoTeT A, TS e, T A
Question Type : MCQ
Question ID : 387868642
Option 1 ID : 3878682511
Option 2 ID : 3878682512
Option 3 ID : 3878682509
Option 4 ID : 3878682510
Status : Answered

Chosen Option :

1




Q.25 @refterdehl RIvTAT STH Uehed HERITTE AT81?
X 1. TSI Te Uehed

< 2. qgIet T Uehed
< 3. IR 7" Uehed

Ans

o 4. s Udd Y Uehed

Question Type : MCQ
Question ID : 387868644
Option 11D : 3878682518
Option 2 ID : 3878682520
Option 3 ID : 3878682517
Option 4 ID : 3878682519
Status : Answered
Chosen Option : 4
Q.26 QHIIAFR GRS aroTR AFToft askh 3 ____ e a.
Ans X 1. 9&dd%h
75 2. uReft gyt S71foT R Fear
X 3. vRefY gear enfor Har JuTe
o 4. I ash
Question Type : MCQ
Question ID : 387868639
Option 1 ID : 3878682497
Option 2 ID : 3878682500
Option 3 ID : 3878682499
Option 4 ID : 3878682498
Status : Answered
Chosen Option : 1
Q.27 1QAir's 2021 SITTfdeh 4T UTET SHEATATIHR VT AT AT go=aT aul Haifdeh v
ST 2AER FUA Ufgen shAThIaR gla?
Ans X 1. e
X< 2. Ry
o 3. 7t Rl
X A, St
Question Type : MCQ
Question ID : 387868636
Option 1 ID : 3878682486
Option 2 ID : 3878682488
Option 3 ID : 3878682485
Option 4 ID : 3878682487
Status : Answered

Chosen Option: 3




Q.28 HERIET=T A1k fSiegTdier o gdariiteias uffd arerd Meet 7d =1 iR
IGH

Ans X 1.876m
< 2.855m
#253.965m
o 4.1,067m

Question Type : MCQ
Question ID : 387868641
Option 1 1D : 3878682506
Option 2 ID : 3878682505
Option 3 ID : 3878682507
Option 4 ID : 3878682508

Status : Answered

Chosen Option : 4

Q.29 uAfeRol, g SIOT aATHT d&d HATAA S 2022 T2l SR} cheledT ISTuA SAGTAIR, Tha
TRARA ‘'YehaTd aTuR EHOT=AT WTfReeh =T (single-use plastic) amoRTaR ahefrurgs sl arastt
3Te?

Ans X 1.19@wR2022

o 2.1 2022
7€ 3.1 sifmee 2022

7€ 4.15 aifee 2022

Question Type : MCQ
Question ID : 387868637
Option 1 ID : 3878682492
Option 2 ID : 3878682489
Option 3 ID : 3878682490
Option 4 ID : 3878682491

Status : Answered

Chosen Option: 2

Q.30 géierdehl AgRIETH I hivTar fSieal Wk Qehrd ATt HHat AR 318?

Ans o 1.STea
X 2.9kE
< 3. mifear
X 4. TR

Question Type : MCQ
Question ID : 387868643
Option 11D : 3878682516
Option 2 ID : 3878682513
Option 31D : 3878682515
Option 4 ID : 3878682514

Status : Answered
Chosen Option : 1

Section : Logical Ability




Q.31 R mfgdt wresigdes arar snfor ararefia asiht SR ar. @i Mo dsem fewH ifdge
T T HALT 9ot SHEaRiETS) @il fAehy AfYa et emad.

a)IAEARM gTaEg uRield fRaT 80% T[T fAsaw sremad.
b)3AEaRTT U udigtd fha™ 60% ot fAsTee srmaT.

c)JHEaRT T4 1 et 2022 A5t frar 15 adf oy st sired 22 af srem.

d)Sieresia ety wda @eaear StearTer 3= guimaRd diF aufft ge feht sda.

e)I=a gaalar siidisad! Uiq feeiean she ifth TREHT 24 auidel SR a9 THe! S IRear
ueten ardia gafae Fe Sda.

Tt Frepuiea SR @refier SAgaRTH IAgar A @ enfor gt vafa Fegs gaen
ITRIER TGUT e

Rt s 1999 Hed FiTe Sy e Sterfores YopTE @u TiTen MR, df Siegrasia arheara
TaTg AT AT fa Teaa’ia dfag=iwes fore Siega wfafidea e ong. o= fasht
BTARHH URI&TT 90% T[UTIHE SwIvf heft SO 85% W&l ST UNHg ot ua2r vrH&ardt ur aveft
3R,
Ans o 1. TR e Sirda,
2< 2. y3T T SITOTR AT

Z< 3. SHCARTAT U TeaTéId THICE hel TSl

X 4. Anfedt orgdt R,
Question Type : MCQ
Question ID : 387868651
Option 1 ID : 3878682545
Option 2 ID : 3878682546
Option 3 ID : 3878682548
Option 4 1D : 3878682547
Status : Answered
Chosen Option : 1
Q.32 A, B, C, D, E, F 3101 L @ GehT FrgaTeier A H&w GEiar 3iTad. E & D =Y agior sm@. A snforB @
frenfaa Sitsd o1, B & G =ft =1 31m@. D &1 C =1 Ygperan Qeh Yorvmm 3418, F & B &g smd. C &1
A 9T TS 3. F 3 G oft & 71d emmd?
Ans X 1.7t
X 2.9
X 3. =g
o 4. Tt
Question Type : MCQ
Question ID : 387868653
Option 1 1D : 3878682556
Option 2 ID : 3878682553
Option 3 ID : 3878682554
Option 4 ID : 3878682555
Status : Answered
Chosen Option : 4




¥ g Reewr AfeRa gE Jomdr wfoAT s,

Ans

# 51 & ] ALE
I e T |
! a1 ! # s |#
X1 L
&
<
o L
&
)
<ol 1
&

Question Type

Option 11D :
Option 2 ID :
Option 31D :
Option 41D :
Status :

Chosen Option :

: MCQ
Question ID :

387868654
3878682559
3878682560
3878682558
3878682557
Answered

1




Q.34 R fRum= snftr e srressiiyden aran. furia R mifgd adammraot ara awidan
= area sraeht @9t <t T e R enfor R|wardd wiorar/wior ey Reear Ramm
arfchehgeaT SIERUT hedl/HTd d .

R

hTE! ShU TI24T 3Tad.

T I2a1 I 3gd.
fAsepef:

(1) 1 T== kY ST,
(1) &< v 19T Smge.

Ans X 1. Wk Rt || STEROT SRl
2$ 2. frsne | fohar || GIgt STERUT e I,
« 3. Th ISRt | STIEROT el
< 4. Trseny | GTTTOT |1 g SIER0T .

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
387868647
3878682530
3878682532
3878682529
3878682531
Answered

3

Q.35 A, B, C, D, E 311for F a7 Wet =a<ht dmdwesar Ifi=a smad. B @) D tai el 3img. C gt A dam geeht
31T, YT D T&T 391 31M2. F &1 Fhares A Gaf geohl 318, E & &l aa=hiden 39 o1mg. afie
AR, Eefierdeh wivrar frepd g amg?

Ans X 1.A=F
o 2.B<A
X 3.D>C
X 4C>A

Chosen Option

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4D :

Status :

12

McQ
387868648
3878682534
3878682536
3878682535
3878682533
Answered




Q.36 Select the combination of letters that when sequentially placed in the blanks of the given

series will create a repetitive pattern.

S__AS
Ans  &# 1. STBSSTASTA

7< 2. STBTASSTAS
7< 3.SASTTBSSTA
7< 4. STBSASTAST

_ - TASBSS_ _SBS

Question Type : MCQ
Question ID : 387868649
Option 1 ID : 3878682540
Option 2 ID : 3878682539
Option 3 ID : 3878682537
Option 4 ID : 3878682538
Status : Answered
Chosen Option : 1
Q.37 Rewar sigRriean Afordhar siaf W SR @ ATfechaT ERT Siuf WIT dhet SO R TUR Seedn
T ATferche i THRITT SITeet U S18R e, R SSTdichaaT SIERTUIRIH STa<ar STt
AT S&RTAT IoTdiehs faaR 318R v 3f«d?
A FR,GH,N,J,U,L0POILKHGRRFDERFGYH
Ans X 1.N
X 2.H
o 3.F
X 4.6
Question Type : MCQ
Question ID : 387868650
Option 1 ID : 3878682541
Option 2 ID : 3878682543
Option 3 ID : 3878682544
Option 4 ID : 3878682542
Status : Answered
Chosen Option: 3
Q.38 Uehl RfZguwed 91d Taitear gaaer H1, H2, H3, H4, H5, H6 3nifo H7 g TTd oi2 3% omgd. d
T4 Zf@ulehs dis e 39 3mgd. H1 =1 Srfiers S+ =12 39 3mgd. H5 3nfoy H1 ai=ar ===
o= 912 I <. H4 T SRTE} SYehTaR=aT Tehl Eehar ST TS ITFOT H7 8T H4 =0T eivTaa IoTdiehs
IUT 3MTR. H3 BT T SoT=aT SATEY HelaY IUT 3M1g. H2 g1 H3 =0T Har 3T ATEY. adier Arfgediean
SR, Wieflerdeht shtvra e Rfgauo avg amd?
Ans o 1. H1 =7 ISidiohs IR 918 39 31ed.
< 2. H1 8T H3 =1 o7 IsTdichs 3T 3778,
< 3. H2 a7for H6 aiear a3 g |1 I 3MTad.
< 4. H4 3nfor H5 gi=ar o3 IR 918 39 SiTed.
Question Type : MCQ
Question ID : 387868645
Option 1 ID : 3878682524
Option 2 ID : 3878682522
Option 3 ID : 3878682523
Option 4 ID : 3878682521
Status : Answered

Chosen Option :

1




Q.39 Afga=ar a=«i= A=) ura F T ek huTe faehd Saat. Az AT huTeTT Ul
HUATAT Tk fATE shrier fee eng, S1@ hY watfa av=ar soaren 1 g1 shAies sfor gatfa @rer=an
HUHTAT 5 T shilich [T 3118, T TAT Td ddfvheh a¥q IRMMIHR HATST HTad SIOIhe Teh

K] GohT HUATR ST ST, RAF ST Tho =T SRIsR ETefl ST shusaien

HUTT SRR @Il YEeach Saeft mge. Besoft & qaeni=n nfor auetien sRteR Adtasr snfoy

HUS HTATIT HUATAT i U WTell Saelt STEd. 42T HUATER HIUT! g Saeil 3Ma?

Ans X 1.%U8
X 2. g5k
F 3. Tauft
X 4. afgx
Question Type : MCQ
Question ID : 387868646
Option 11D : 3878682527
Option 2 ID : 3878682526
Option 3 ID : 3878682525
Option 4 ID : 3878682528
Status : Answered
Chosen Option : 3
Q.40 wan fafre gidkfaes wrdd, ‘FRAME' € ‘IUXPB’ 3/ faifget sirat enifor ‘PICTURE' @ 'SFFWRUB’
3 fafgst sia. = "ickfaes wrdd ‘PHOTO’ d fafgs siser?
Ans X 1.SKLWR
5 2. SFLWL
«" 3. SKLWL
25 4. SFLWR
Question Type : MCQ
Question ID : 387868652
Option 1 ID : 3878682551
Option 2 ID : 3878682549
Option 3 ID : 3878682550
Option 4 ID : 3878682552
Status : Answered
Chosen Option : 3

Section : Civil Engineering




.41 Abuilding requires 9 numbers of RCC columns of size 0.5 m depth. 0.2 m thickness and 8 m height. Estimate the
g requ P
quantity of steel reinforcement required if the steel reinforcement to be provided is 2% by their gross volume. (Consider

unit weight of steel as 7850 kg/m?.)

Ans % 1. 8.42 quintal
X 2. 16.78 quintal
X 3. 6.45 quintal
« 4. 11.30 quintal
Question Type : MCQ
Question ID : 387868692
Option 11D : 3878682710
Option 2 ID : 3878682712
Option 3 ID : 3878682709
Option 4 ID : 3878682711
Status : Answered
Chosen Option : 1
Q42 T oss of pre-stress due to shrinkage of concrete is called
Ans

# 1. modulus of elasticity of concrete

X 2. modular ratio
< 3. concrete stress at the level of steel
« 4. shrinkage strain

Question Type : MCQ
Question ID : 387868682
Option 11D : 3878682670
Option 2 ID : 3878682671
Option 31D : 3878682672
Option 4 ID : 3878682669

Status : Answered
Chosen Option : 4




Q.43 Which of the following expressions is correct, to compute moment of inertia about diametric axis of a circular lamina

with radius R mm?

Ans z
TR £
x 1. ™ mm?
4
TR* £
x2 Z mm?
8
TR 4
K3 — mm
12
mR* 4
v+ = mm?
4
Question Type : MCQ
Question ID : 387868686
Option 11D : 3878682686
Option 2 ID : 3878682687
Option 31D : 3878682688
Option 4 ID : 3878682685
Status : Answered
Chosen Option : 4
Q.44 If a uniformly distributed load with certain intensity is acting on a beam for a particular span, the variation (shape) of
bending moment will be
Ans X 1. semi circular
# 2. cubic parabola
2 3. linear
« 4. parabolic
Question Type : MCQ
Question ID : 387868663
Option 1 ID : 3878682596
Option 2 ID : 3878682595
Option 3 ID : 3878682593
Option 4 ID : 3878682594
Status : Answered
Chosen Option : 4
Q.45 Which of the following methods of road construction proposed that large foundation stones of thickness 17 to 22 cm
shall be laid on subgrade with hand with their largest face down so as to be laid in a stable position?
Ans X 1. Metcalf construction
« 2. Telford construction
« 3. Tresaguet construction
# 4. Macadam construction
Question Type : MCQ
Question ID : 387868708
Option 1 ID : 3878682776
Option 2 ID : 3878682774
Option 3 ID : 3878682775
Option 4 ID : 3878682773
Status : Answered
Chosen Option: 2




Q.46 Which of the following geometric features of road surface is provided to drain off the rain water from road surface at
the earliest?

Ans < 1. Kerb
+ 2. Camber
# 3. Median
X 4. Right of way

Question Type : MCQ
Question ID : 387868707
Option 1 ID : 3878682769
Option 2 ID : 3878682770
Option 3 ID : 3878682772
Option 4 1D : 3878682771

Status : Answered

Chosen Option: 2

Q47 As per IS 800 : 2007, Purlins are designed as .
Ans X1 fixed beams

« 2. continuous beams

X 3. propped cantilever beams

X 4. over hanging beams

Question Type : MCQ
Question ID : 387868670
Option 11D : 3878682621
Option 2 ID : 3878682623
Option 31D : 3878682622
Option 4 ID : 3878682624

Status : Answered

Chosen Option: 4

Q.48  As per IRC specifications, what is the minimum width of two lane roads with raised kerbs?
Ans 1. 7.5m

X2 90m

X3 35m

X4 7.0m

Question Type : MCQ
Question ID : 387868709
Option 11D : 3878682779
Option 2 ID : 3878682778
Option 3 ID : 3878682777
Option 4 ID : 3878682780

Status : Answered

Chosen Option : 1




Q49 As per IS 4954 : 1968, what is the acceptable indoor noise level at hospitals?
Ans  X1. 45 dB to 55 dB

« 2 35dB to 40 dB

<3 10dBto25dB

#< 4 40 dB to 60 dB

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

Question Type :
Question ID :

McQ
387868714
3878682799
3878682797
3878682798
3878682800
Answered

2

Q.50 The method of population forecast which assumes that the increase in population from decade to decade is constant is

Ans X 1. geometrical progression method

# 2. subtractive decrease method
« 3. arithmetic increase method

# 4 incremental increase method

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
387868711
3878682788
3878682786
3878682785
3878682787
Answered

1

Q.51 The unit of measurement used for estimating quantity of white washing, colour washing or cement washing is

Ans  X'1. cubic meter

« 2. square metre
X 3. running metre

< 4. tonne

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
387868691
3878682708
3878682706
3878682705
3878682707
Answered

2




Q.52 Which of the following expressions is correct to compute moment of inertia about diametric axis of a semicircular

lamina with radius R mm?

Ans

z i
x 1. ™ nmt
2
4 i
x 2 ™ mm?
4
mR* £
w3 — I]:I.Hl_1
8
TR 4
XK 4 — mm
36
Question Type : MCQ
Question ID : 387868661
Option 1 1D : 3878682586
Option 2 ID : 3878682585
Option 3 ID : 3878682587
Option 4 ID : 3878682588
Status : Answered
Chosen Option : 3
Q.53 As perIS: 10500, what is the maximum acceptable limit of fluoride content (in mg/l) in drinking water?
Ans X1 5mg/l
X2 10 mg/l
X 3. 500 mg/l
« 4 1 mg/l
Question Type : MCQ
Question ID : 387868712
Option 11D : 3878682790
Option 2 ID : 3878682791
Option 3 1D : 3878682792
Option 4 ID : 3878682789
Status : Answered
Chosen Option : 4
Q.54 Find the duty of water, if a crop requires a total depth of 100 cm water for a base period of 24-24 hours.
Ans 1. 1050.41 hectares/cumec
« 2. 872.64 hectares/cumec
# 3. 740.58 hectares/cumec
X 4. 966.87 hectares/cumec
Question Type : MCQ
Question ID : 387868695
Option 11D : 3878682724
Option 2 ID : 3878682722
Option 3 ID : 3878682721
Option 4 ID : 3878682723
Status : Answered
Chosen Option : 2




Q55 The Proctor test is performed on soil mass for

Ans % 1. finding coefficient of curvature
« 2. assessing its degree of compaction
« 3. finding coefficient of uniformity
X 4. particle size analysis
Question Type : MCQ
Question ID : 387868705
Option 11D : 3878682762
Option 2 ID : 3878682764
Option 3 ID : 3878682761
Option 4 D : 3878682763
Status : Answered
Chosen Option: 2
Q.56

Identify the cross drainage work shown in the given figure.

{H'F L OF DRALK

Ans X1 Aqueduct
« 2. Super passage
# 3. Level crossing

X 4. Syphon aqueduct

Question Type : MCQ
Question ID : 387868698
Option 11D : 3878682735
Option 2 ID : 3878682733
Option 3 ID : 3878682736
Option 4 ID : 3878682734

Status : Answered

Chosen Option : 2




Q.57 Aline XY has a whole circle bearing (WCB) between 90° and 180°, then the correct expression used to calculate

reduced bearing (RB) is:

Ans X1 RB = 360° - WCB
<2 RB=90°+WCB
+ 3 RB=180°"-WCB

<4 RB=WCB

Question Type : MCQ
Question ID : 387868689
Option 11D : 3878682700
Option 2 ID : 3878682699
Option 31D : 3878682698
Option 4 ID : 3878682697
Status : Answered
Chosen Option: 3
Q.58 Calculate the quantity of earthwork using Mid Sectional Area Method, for a portion of a road. (Height of banks at the
two ends of the road being 3 m and 2 m, formation width = 12 m, length = 50 m, side slopes=2: 1 (H: V))
A K1 2460 mP
v 2 2125 m’
X3 1750 m
74 1960 m’
Question Type : MCQ
Question ID : 387868693
Option 11D : 3878682716
Option 2 ID : 3878682714
Option 31D : 3878682713
Option 4 ID : 3878682715
Status : Answered
Chosen Option : 2
Q.59 As per IS 800:2007, The maximum permissible vertical deflection for elements susceptible to cracking in buildings
other than industrial buildings is limited to . Consider that type of member as floor and roof, and design load
as live load.
Ans 1. 1/360
X 2. L/300
2 3. 1/400
X 4 L/250
Question Type : MCQ
Question ID : 387868669
Option 11D : 3878682617
Option 2 ID : 3878682618
Option 31D : 3878682620
Option 4 1D : 3878682619
Status : Answered
Chosen Option: 1




Q.60 Identify whether the given statements with respect to network planning technique used for project management are
correct or incorrect.

Statements:
A) Event consumes only time not the resources.

B) An activity requires only resources for its completion, not time.
Ans X 1. Statement B is correct and A is incorrect
X 2. Both statements are correct

+ 3. Both statements are incorrect

&< 4. Statement A is correct and B is incorrect

Question Type : MCQ
Question ID : 387868683
Option 11D : 3878682674
Option 2 ID : 3878682675
Option 3 ID : 3878682676
Option 4 ID : 3878682673
Status : Answered
Chosen Option : 2
Q.61 Which of the following types of rocks is formed as a result of solidification of molten mass lying below or above the
earth’s surface?
Ans 1. Igneous rocks
X 2. Metamorphic rocks
« 3. Stratified rocks
X 4. Transported rocks
Question Type : MCQ
Question ID : 387868655
Option 1 ID : 3878682561
Option 2 ID : 3878682563
Option 3 ID : 3878682564
Option 4 ID : 3878682562
Status : Answered
Chosen Option : 1
Q.62 Which type of bolt hole is more preferable to minimise the deformation of the work plate?
Ans % 1. Tt depends on action of load
+ 2. Drilled hole
# 3. Punched hole
« 4. Tt depends on bolt material
Question Type : MCQ
Question ID : 387868671
Option 11D : 3878682627
Option 2 ID : 3878682626
Option 3 ID : 3878682625
Option 4 ID : 3878682628
Status : Answered
Chosen Option : 2




Q63 The piping phenomena in soil mass occurs when

Ans % 1. soil is dry
« 2. effective pressure in soil becomes zero
X 3. soil is dense
X 4. soil is impermeable
Question Type : MCQ
Question ID : 387868706
Option 1 ID : 3878682765
Option 2 ID : 3878682767
Option 3 ID : 3878682768
Option 4 ID : 3878682766
Status : Answered
Chosen Option: 2
Q64 A5 the pressure increases, the bulk modulus of a fluid:
Ans

X< 1. becomes zero
/< 2. decreases to a certain extent and then increase
< 3. decreases

« 4. increases

Question Type : MCQ
Question ID : 387868699
Option 11D : 3878682740
Option 2 ID : 3878682739
Option 3 1D : 3878682738
Option 4 ID : 3878682737

Status : Answered

Chosen Option : 4

Q.65 Arectangular bar of length 2 m, breadth 20 mm and depth 40 mm is subjected to an axial pull of force 400 N along its
length. Calculate the tensile stress developed in the bar.

X 1.5 N/mm?
X2 10 N/mm?

Ans

¢ 3 0.5 N/mm?
X4 ] N/mm?

Question Type : MCQ
Question ID : 387868662
Option 1 1D : 3878682591
Option 2 ID : 3878682589
Option 3 1D : 3878682590
Option 4 ID : 3878682592

Status : Answered
Chosen Option : 2




Q.66 The length of a road measured with a 30 metre chain was found to be 300 metres. What is the true length of the road if

the chain was 10 cm too long?

Ans 1. 301 metres
< 2. 303 metres
# 3. 295 metres
< 4. 290 metres
Question Type : MCQ
Question ID : 387868688
Option 1 ID : 3878682695
Option 2 ID : 3878682696
Option 31D : 3878682694
Option 4 1D : 3878682693
Status : Answered
Chosen Option : 1
Q.67 Calculate the cost of brick work for a 30 cm thick compound wall of length 20 m and height 1.5 m, at the rate of
210,000 per m°. Neglect the contingencies and work charged establishment charges.
Ans 1. 230.000/-
X 2. 360,000/-
« 3. 290,000/-
X 4. F45.000/-
Question Type : MCQ
Question ID : 387868694
Option 11D : 3878682717
Option 2 ID : 3878682719
Option 31D : 3878682718
Option 4 ID : 3878682720
Status : Answered
Chosen Option : 3
Q.68 The data pertaining to irrigation for an agricultural land is as follows:
1. field capacity of soil = 25%
2. optimum moisture = 15%
If the permanent wilting point = 11%, find the water holding capacity of soil above its wilting point.
Ans X 1. 49
< 2. 10%
3. 14%
X 4. 20%
Question Type : MCQ
Question ID : 387868696
Option 11D : 3878682726
Option 2 ID : 3878682728
Option 3 ID : 3878682725
Option 4 ID : 3878682727
Status : Answered
Chosen Option: 3




¥ Ryefe wedmar AT HUITETET el ST,
Mo arbumder smeas faealer garEr a9

X 2. ZgT=r 97 9IuTdT.

X3 ZaT=ll gd 9aordr

X 4. OTSIHYA STEUTAT AT .

Question Type : MCQ
Question ID : 387868702
Option 11D : 3878682749
Option 2 ID : 3878682750
Option 3 ID : 3878682752
Option 4 1D : 3878682751
Status : Answered
Chosen Option: 1
Q.70 1In a steel structure, the ratio of plastic modulus to elastic modulus for a rectangular section is
Ans X 1. 2.5
<2090
X3 0.5
4 1.5
Question Type : MCQ
Question ID : 387868668
Option 11D : 3878682616
Option 2 ID : 3878682613
Option 31D : 3878682614
Option 4 ID : 3878682615
Status : Answered
Chosen Option : 4
Q.71 Identify whether the given statements with respect to failure of a column or strut sections is correct or incorrect.
Statements:
A) The value of buckling load is low for short columns, when compared to long columns.
B) For a long column the value of buckling load will be less than the crushing load.
Ans X 1. Statement A is correct and B is incorrect
X 2. Both statements are incorrect
<3 Both statements are correct
« 4. Statement B is correct and A is incorrect
Question Type : MCQ
Question ID : 387868664
Option 1 ID : 3878682597
Option 2 ID : 3878682600
Option 3 ID : 3878682599
Option 4 ID : 3878682598
Status : Answered

Chosen Option :

1




Q.72 Astring ABCD is subjected to two point loads as shown in the given figure. Calculate the tension force in segment CD.

500 N

Ans 1. 500N
X2 424N
<3 340N
X4 250N
Question Type : MCQ
Question ID : 387868659
Option 1 ID : 3878682578
Option 2 ID : 3878682579
Option 3 ID : 3878682577
Option 4 ID : 3878682580
Status : Answered
Chosen Option : 1
Q.73 The ratio of actual operating period of a distributary to the crop period is called
Ans X 1. supply coefficient
X 2. delta factor
~ 3. nominal delta
« 4 time factor
Question Type : MCQ
Question ID : 387868697
Option 11D : 3878682729
Option 2 ID : 3878682731
Option 31D : 3878682732
Option 4 1D : 3878682730
Status : Answered

Chosen Option :

2




Q.74 Identify the type of truss shown in the given figure based on degree of redundancy. Consider that truss is supported with

Ans

roller type at joint E and hinged type at joint A.

20 kN 30kN  30KN

am am am am
am

B c o

X< 1. Deficient truss
X 2. Over rigid truss

X 3. Redundant truss
« 4 Perfect truss

Question Type : MCQ
Question ID : 387868665
Option 11D : 3878682602
Option 2 ID : 3878682604
Option 3 1D : 3878682603
Option 4 ID : 3878682601

Status : Answered
Chosen Option : 3

Q.75

Ans

Which of the following types of curve is used to minimise discomfort arising due to sudden change in curvature at the

Junction of a straight and curved road?
« 1. Transition curve
X 2. Reverse curve

# 3. Simple curve

X 4. Compound curve

Question Type : MCQ
Question ID : 387868690
Option 1 ID : 3878682701
Option 2 ID : 3878682703
Option 3 ID : 3878682704
Option 4 ID : 3878682702

Status : Answered

Chosen Option : 1




Q.76 Thickness of an isolated RCC footing at its edge shall not be less than
Ans 1. 300 mm

X2 75 mm

< 3. 50 mm

« 4 150 mm

Question Type :
Question ID :

Option 11D :
Option 2 ID
Option 3 ID
Option 4 ID

Status :

McCQ
387868677
3878682651

: 3878682650
: 3878682649
: 3878682652

Answered

Chosen Option : 2

Q.77 Which of the following tests is used to determine toughness of coarse aggregates?

Ans 1 Impact value test

X 2. Crushing value test
X 3. Los Angeles abrasion value test

X 4. Roughness value test

Question Type:
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
387868673
3878682636
3878682634
3878682635
3878682633
Answered

1

Q78 The unit of intrinsic permeability in soil mass is:

Ans X 1. mm/day
X 2. Km/day
< 3. mm

¥ 4 mm?

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
387868703
3878682754
3878682753
3878682755
3878682756
Answered

4




Q.79 Which of the following expressions is correct to calculate extra widening (W) for roads at horizontal curves? (where

‘n’ is number of traffic lanes, ‘/” is length of wheel base of longest vehicle in m, *V" is design speed of vehicle in km/h,

‘R’ is radius of horizontal curve in m.)

Ans z
X1 we=i+ v
R 95VR
nl? v
2 W=—+
= 2r 9s5VR
I
€ 2r VR

2, v
X4 w=0or D
€ r VR

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

McQ
387868710
3878682781
3878682783
3878682782
3878682784
Answered

2

Q.80 The cover thickness for longitudinal reinforcing bars in a beam subjected to severe condition should not be less than

Ans 1. 60 mm
< 2. 40 mm
<3 20 mm

& 4 45 mm

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :

Option 4 D :
Status :
Chosen Option :

MCcQ
387868676
3878682648
3878682646
3878682645
3878682647
Answered

3




Q81 Which of the following types of surveying is NOT a traversing survey?

Ans X1, Compass surveying
X 2. Theodolite surveying
# 3. Chain surveying
« 4. Tacheometric surveying
Question Type : MCQ
Question ID : 387868687
Option 11D : 3878682690
Option 2 ID : 3878682691
Option 31D : 3878682689
Option 4 ID : 3878682692
Status : Answered
Chosen Option: 3
Q82 Ope poise is equal to
Ans
X 1. 1/60 N-sec/m?
¥ 2 1/10 N-sec/m?
Z3.1/100 N-sec/m?
X 4. 1/50 N-sec/m?
Question Type : MCQ
Question ID : 387868700
Option 1 ID : 3878682744
Option 2 ID : 3878682743
Option 3 ID : 3878682741
Option 4 ID : 3878682742
Status : Answered
Chosen Option : 2
Q.83 Addition of in concrete will decrease the rate of hardening of cement in concrete.
Ans % 1. accelerating admixtures
« 2. retarding admixtures
X 3. water proof admixtures
X 4. air entraining admixtures
Question Type : MCQ
Question ID : 387868674
Option 11D : 3878682638
Option 2 ID : 3878682639
Option 3 ID : 3878682640
Option 4 1D : 3878682637
Status : Answered

Chosen Option :

1




Q84 1 oss of pre-stress due to stress relaxation in steel depends on
Ans X 1. coefficient of friction between steel and concrete

« 2. initial prestress in steel
« 3. amount of shrinkage in concrete

X 4. amount of elongation in steel

Question Type : MCQ
Question ID : 387868680
Option 11D : 3878682662
Option 2 1D : 3878682661
Option 31D : 3878682663
Option 4 ID : 3878682664

Status : Answered

Chosen Option : 1

Q.85 Calculate the deflection at point B of a cantilever beam of length 4 m shown in the given figure. Take EI as constant
throughout its length.

Ans 26.67
<1
EI
120.45
X2 -
EI
70.50
X3 -
EI
53.33
o4 -
EI

Question Type : MCQ
Question ID : 387868666
Option 1 ID : 3878682606
Option 2 ID : 3878682608
Option 3 ID : 3878682605
Option 4 ID : 3878682607

Status : Answered

Chosen Option: 2




Q.86 Which of the following chemical compositions (highest percentage) present in ordinary Portland cement is relatively in
low percentage compared to other mentioned compositions?

Ans 1. Na,O
x 2. Al,Oq
X3 Ca0O
X 4. SiO,

Question Type : MCQ
Question ID : 387868656
Option 11D : 3878682568
Option 2 ID : 3878682567
Option 3 ID : 3878682565
Option 4 ID : 3878682566

Status : Answered

Chosen Option : 4

Q.87 Identify whether the given statements with respect to effect of force system are correct or incorrect.
Statements:
A) A coplanar concurrent force system acting on an object induces rotational effect on it.
B) A coplanar concurrent force system acting on an object induces both, translational and rotational effect on it.
Ans X 1. Both statements are correct
< 2. Statement B is correct and A is incorrect
X 3. Statement A is correct and B is incorrect

« 4. Both statements are incorrect

Question Type : MCQ
Question ID : 387868658
Option 11D : 3878682575
Option 2 ID : 3878682574
Option 3 ID : 3878682573
Option 4 ID : 3878682576

Status : Answered

Chosen Option : 1

Q88 The model analysis of free surface flows is based on

Ans X 1. Boltzmann number

« 2. Froude number
< 3. Bernoulli’s number

X 4. Reynolds number

Question Type : MCQ
Question ID : 387868701
Option 11D : 3878682745
Option 2 ID : 3878682746
Option 3 1D : 3878682747
Option 4 ID : 3878682748

Status : Answered

Chosen Option : 2




Q.89 Which of the following equipment is more suitable for transportation of concrete over a long distance

Ans

(like 10 to 15 kms)?

« 1. Transit mixer
x 2. Skip and hoist
X 3. Pumps and pipeline

X 4. Belt conveyor

Question Type :

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

McQ
: 387868675

: 3878682641
: 3878682642
: 3878682643
: 3878682644

Status : Answered
Chosen Option : 1

Q.90 The assumption that plane section remains plane, before and after the bending leads to

Ans

X 1. uniform stress over the beam section

# 2. ponlinear variation of stress over the beam section
+ 3. linear variation of stress over the beam section

X 4 uniform strain over the beam section

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
387868679
3878682657
3878682659
3878682660
3878682658
Answered

4

Q.91 Which of the following building materials is comparatively finer and possesses better adhesive and cohesive properties?

Ans

X 1. Fine aggregates

X< 2. Silt

« 3. Clay

# 4. Manufactured sand

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

McQ
387868657
3878682569
3878682570
3878682571
3878682572
Answered

Chosen Option : 1




Q92 Which of the following is NOT a secondary air pollutant?

Ans X 1. Nitrogen oxide
# 2. Sulphuric acid

+ 3. Sulphur dioxide

Chosen Option :

X 4. Ozone
Question Type : MCQ
Question ID : 387868713
Option 11D : 3878682793
Option 2 ID : 3878682794
Option 3 ID : 3878682796
Option 4 D : 3878682795
Status : Answered
Chosen Option : 1
Q93 Ppore water pressure in the capillary zone of a soil mass .
Ans X 1. is zero (no rise, no fall)
X 2. can be either positive or negative
X 3
is positive (capillary water flows towards the direction of gravity)
« 4. 1s negative (capillary water rises against the gravity)
Question Type : MCQ
Question ID : 387868704
Option 1 ID : 3878682757
Option 2 ID : 3878682758
Option 3 D : 3878682759
Option 4 ID : 3878682760
Status : Answered
Chosen Option : 4
Q.94 wWhich of the following chemical compounds is NOT a Bogue’s compound?
Ans o 1. 2 CaD.SiOZ.FEEOg
X2 4 CRD.A1203 .F6203
X 3. 3 Ca0.Si0y
X 4. 3 Cao.Al,O4
Question Type : MCQ
Question ID : 387868672
Option 11D : 3878682629
Option 2 ID : 3878682631
Option 3 ID : 3878682630
Option 4 ID : 3878682632
Status : Answered

1




Q.95 Identify whether the given statements with respect to critical path analysis used for project management are correct or

incorrect.

Statements:

A) Critical path analysis identifies the shortest path in a schedule network diagram.

B) Critical path analysis finds the minimum duration required to complete a project.

Ans X' 1. Both statements are incorrect

X 2. Both statements are correct

& 3. Statement A is correct and B is incorrect

« 4 Statement B is correct and A is incorrect

Question Type : MCQ
Question ID : 387868685
Option 1 ID : 3878682684
Option 2 ID : 3878682683
Option 3 ID : 3878682681
Option 4 ID : 3878682682
Status : Answered
Chosen Option : 1
Q.96 A triangular lamina with base width b=30 mm and height d=90 mm is shown in the given figure. The location of
centroid measured with respect to its base b is at a distance of mm.
Y, i
]
]
i
- -.T.i ——
iy
Ly N
4—7—;—:
bt
Ans X1, 15.00
<2 45.00
« 3. 30.00
X 4. 60.00
Question Type : MCQ
Question ID : 387868660
Option 1 ID : 3878682581
Option 2 ID : 3878682582
Option 3 ID : 3878682583
Option 4 ID : 3878682584
Status : Answered
Chosen Option : 2




Q97 Pre-stressing is possible by using

Ans X 1. tool steel
X 2. alloy steel
+ 3. high tensile steel
X 4. HYSD
Question Type : MCQ
Question ID : 387868681
Option 1 ID : 3878682665
Option 2 ID : 3878682666
Option 3 ID : 3878682667
Option 4 ID : 3878682668
Status : Answered
Chosen Option: 3
Q98 As per IS 456, the batching tolerance for aggregates is
Ans X1 £7 %
o2 13 0%
<3 =10%
X4 +15%
Question Type : MCQ
Question ID : 387868678
Option 1 1D : 3878682654
Option 2 ID : 3878682655
Option 3 ID : 3878682656
Option 4 ID : 3878682653
Status : Answered
Chosen Option : 4
Q.99 Identify whether the given statements are correct or incorrect.

Ans

Statements:

A) If the total float and duration of an activity are 2 and 10 days, respectively, the particular activity can be started 2

days later.

B) If the total float and duration of an activity are 2 and 10 days. respectively, the particular activity can be completed 2

days later.

« 1. Both statements are correct

/< 2. Statement B is correct and A is incorrect
# 3. Both statements are incorrect

X 4. Statement A is correct and B is incorrect

Question Type :
Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status :

McQ

: 387868684

: 3878682679
: 3878682678
: 3878682680
: 3878682677

Answered

Chosen Option : 1




Q100 ywhich of the following beams/arches is statically determinate?

Ans

« 1. Three-hinged arches

X 2. Continuous beam

X 3. Propped cantilever beam

X 4. Two-hinged arches

Question Type :
Question ID :
Option 11D :
Option 21D :
Option31D:
Option 41D :

Status :

Chosen Option :

McQ
387868667
3878682611
3878682609
3878682610
3878682612
Answered

4




